






















5. THALE  Graham  Aldous  is  continuing  to  research  the
history of this East German system and I hope to be able to
included his findings later on. One thing has emerged though,
the summary chart in 38/1138 is incorrect for the early years
because  the  parts  &  manual  thought  to  be  from 1957  are
almost certainly earlier than 1955, and the change from the
Motorcycle to the Jib Crane manual occurred in 1955-56.

Graham has also found that the pitch of the holes in some
early THALE parts is 12.75mm, instead of the 12.5mm later.
This  led  me  to  check  the  pitch  of  the  parts  described  in
38/1138 and (to  my shame,  that  I  hadn't  done so before)  I
found it  to be ½” or very nearly (12.7±.02mm in the various
different types of part).

THALE STAHLBAU TECHNIK:  S4     [40/1197]

6. FAC  Jacques  Pitrat  wrote  that  the  FAC  web  site,
www.facsystem.se,  contains  much  of  interest.  As  well  as
details of the current products there are photos of a number of
models, old sets, and also pdf files of old manuals including 4
in English. The site has English, French & German language
versions as well as Swedish.

FAC:  S1     [40/1197]

7. MERKUR  in  2008,  from  the  English  version  of  the
Merkur web site. Little has changed since 2007 (see 37/1103)
except that the American M-KUR Apache set has appeared as
the MERKUR Helikopter Set (#3314) with 486 parts, and the
same model on the lid.(

Both the Classic C01 and C02 sets are listed with the same
reference number, 3345, and the difference in weight between
the two seems to be because the C02 is in a wooden box.

One correction to 33/991, the Set 030 has 310 parts.

MERKUR [1]  S7            [40/1197]

8. Snippet. FERROX  A No.2 set similar to the 'in between'
one noted in 38/1134 was offered on Ebay. It was not so com-
plete, the main parts missing being the Flanged Plate and the
1*5*1 DAS. Also the the tools were a wooden-handled Screw-
driver, & a Spanner with one open end and a ring at the other
– similar to the one in the Phase 3 set in Fig.3b of 36/1090. 

The most notable difference though was that certain parts
were  painted  a  medium  blue.  These  comprised  the  Large
Flanged Disc, the longest DAS (1*9*1h in this set, a size not
mentioned before, but the length of the long DAS in the OSN
38 No.2 couldn't be seen), and the 5 & 11h Strips (the latter
the  longest  in,  or  remaining  in,  the  set).  The  only  other
painted parts were the green 6*10h Perforated Plate and the
red 1*3h SAS, the same shade as in the OSN 38 No.2.

The present set's box was said measure 35*21*2.8cm and
the maker was Drösler as before.

FERROX  S4             [40/1197]

9. Snippet. THE THATCHER TIN CAN TOY  The picture in-
side the lid of the wooden box for this 'DIY' set was shown in
33/973. An Ebay set in the same box, 17*10*3¼”, contained
some tools and a booklet ©1920 entitled Gilbert Tin Can Toy
Making. The set is pictured in it and the contents that can be
seen include a mallet, scriber, pliers, snips, dividers, ruler, be-
nding jig, forming block, soldering iron, & some smaller items. 

THE THATCHER TIN CAN TOY:  S2            [40/1197]

10. STAHL-BAUKASTEN  Since  the  Snippet  on  this  early
post-WW2 German system in 38/1160, Jürgen Kahlfeldt has
kindly sent more details, via Thomas Morzinck.

The parts are made of .7mm thick aluminium, and the holes
are 3.3mm Ø at 10.0mm pitch. Below the set contents given

on the front of the manual. In order, the parts are 4,11,6,2,25,
16,4,4 of 10,20,30,40,50,90,100,150mm Strips (those lengths
are  overall  so  perhaps the  10mm is  a  sort  of  washer);  26
10*10mm A/Bs; 2x 100mm A/Gs, 10*10mm in section; 2,51
M3 Bolts,  15,4mm long;  60  M3  Nuts;  2  each  M3  Screwed
Rods, 80,30,20mm long; 1 Flanged Plate 100*60mm; 4 each
Discs, 20,30mm Ø, and (probably) dished by 3.5mm; 1 each
Screwdriver, Spanner, Manual.

The manual has 8 pages including covers – the front as in
OSN 38. 6 models are shown on pp2-7, one to a page, with a
2- or 3-view engineering drawing for each, plus a list of parts.
The first model is the Leiterwagon below (slightly rearranged),

and the last is Treppe (a Stairway with Landing).  The other
models are the Slewing Crane, Radio Tower, & Electric Pylon
on the lid, and a Girder Bridge. The back cover has the side
elevation of 5 more models including a Lorry, another Crane,
and a Guyed Pylon.

STAHL-BAUKASTEN [2]  S2            [40/1197]

11.  PHILIPS  In 39/1187 the change from colourless to red
Wheels was associated with the introduction of the new sets
ME 1201 & 1250, which replaced the ME 1200 outfit. But the
change seems not  to  have been  so clear  cut  because Paul
Goodman has found red Wheels in one of his three ME 1200
sets.

PHILIPS:  S9            [40/1197]

    OSN 40/1197

OSN  –  Your Credit Balance:
was    after OSN 39

was    after your remittance
   of

is    after this Issue

Please send at least £                   if
you wish to receive the next Issue.

OSN Subscription Rates  The price per Issue, including postage, at Printed Paper
Rate where available, is £5.50 for UK; £6 by air to Europe & surface anywhere; £6.50
by air outside Europe. Back Issues  For the zones above : OSN 1: £1/£1.30/ £1.50;
OSN 2,3: £2.30/£2.70/£2.90 each; OSN 4-27: £3.60/£4.10/£4.50 each; OSN 28 on (in
colour): £6/£6.50/£7. (All colour & some  B&W issues are on loose sheets.)
Payments  Please make cheques etc payable to P.A.Knowles. Remittances must be
in Pounds Sterling (GBP) or, as cash, in Euros or US Dollars (£1=€1.10=$1.50).
Payments from overseas may also be made using PayPal (in Sterling please).
Small Ads  Short ads are free to subscribers; insertion guaranteed in OSN 41 if re-
ceived by the end of July (but repeats may not always be possible, please ask).



Snippets. The FAC 'Toy' Sets  These little outfits were
aimed  at  youngsters  before  FAC  got  into  its  stride  as  a
'professional' system. A little about them was given in 18/508,
19/526 & 24/712; the new material in these notes is largely
based on items kindly sent by Chris Freeman, David Hobson, &
John  Timms,  and  photos  from  Tradera,  the  Swedish  Ebay
equivalent (www.tradera.com). The 3 manuals for the sets can
be downloaded from www.facsystem.se. All the material seen
in in Swedish.
HISTORY  The sets known are Nos.0, 1 & 2, a linking set
No.1-2, and No.2B, a repackaged No.2. The system is said to
have appeared in 1952 – all other dates quoted are from the
literature to hand. The first sets were probably Nos.1 & 2: the
No.1 manual doesn't have a date in it but it has reviews of FAC
from  1952  on  the  back  cover,  and  the  No.2  has  a  PR  of
'Mauritzons / Stockholm 1952 52-3241'. The No.0 manual has
'Stockholm 1954. Berglins Tryckeri'  as a PR and 1954 is the
likely date of its introduction because it contains parts not in
Sets 1 & 2, and not listed in a Parts Price List 53-3559. It isn't
known how long the toy sets were made but only one edition
of each of the manuals is known.

All  the  sets  seen  bear  the  name  Mark  Sylwan  AB,
Stockholm, the FAC designer's company, and most also have
AB O.  Mustad & Son,  Gothenburg,  the company that  made
FAC parts. The name hasn't been seen on Set 1 though it may
be that it is on a lid apron not visible in the photos to hand.
The PARTS  Those in the sets are listed in Fig.9 and the
notes below cover parts not adequately described in the Figure
or in the illustrations in Fig.8.

● The centre hole of the 3h Link and the apex hole of the
Bell Crank are 4mm Ø.  ● The  64t Gear has 6 face holes.
● The Screwdriver has a black handle and scales at 10½cm
long; the Spanner at 7cm. ● The hole in the Eye Bolt is 4mm
Ø. ● The Hooks are flat; #9/03 is a smaller, simpler version of
9/02, see Fig.2. ● The Cord is white, wound on a red card.

Additional parts in the 1953 List are Rods up to 2000mm
long; 3 extra Rods with Screwed Ends, up to 90mm long; 3
extra  Tie Rods  from 18.5  to  170mm long;  a 6mm Ø Axle,
180mm long;  14  extra  Beams  from  23  to  386mm long;  a
54mm Ø Pulley Disc; 5 extra Gears from 24 to 96t; a 6h Bush
Wheel, 46mm Ø & 6mm bore, with a 2mm thick disc; a Worm
& 22t Worm Wheel; 3 Bevels for 1:1 & 1:3 ratios.

Parts in the No.0 set which are not in the 1953 List include
the Plate, Bell Crank, Eye Bolt, Tyre #9/09, & the 2 & 3h Links.
The SETS  Those known are described below. The contents
of the main sets are given in Fig.9 with my names. 

No.0. As mentioned  above  this  set  was
probably

introduced 2 years after the main sets, and even excluding the
new parts it contains lengths of the various Rods not in Sets 1
& 2.

The box is  21*29.5cm and its  lid  &  base are  shown in
Figs.1 & 2. Apart from the small parts in the white box there is
a cutout in the backing card for each part and a green under
layer shows through the holes rather attractively (in Fig.2 the
brass Pulleys inside the Tyres would originally have been in the
4 circular cutouts bottom left).

The  manual has  16  pages  including  covers,  about  24*
16cm landscape, and is printed in B&W. The cover has only
the name & 2 of the manual models on it – a Motor Scooter
(as Fig.3) & a Field Gun. p2 has an introduction and the first
model, SÄCKKÄRRA (Hand Truck). Then 9 more models ending
with  HAMMARE (Mechanical Hammers) on pp14-15. The back
cover has the set contents. The models are fairly complicated
but for each is a parts list, written instructions, and for most,
step-by-step assembly drawings. Sometimes 2 pages in all are
devoted  to  one  model.  In  the  step-by-step  illustrations  the
existing parts are shown black with white lines and the new
parts with black lines on white. I wonder if anyone had used
step-by-step instructions for a toy set before. The instructions
in the earlier No.1 & No.2 manuals take a different form and
perhaps it was felt that an easier presentation was needed for
youngsters who might build from the smaller outfit.

Rather surprisingly the only illustrations of  the set's parts
are in the models, but I think it likely that either there was a
leaflet  with  the  set  which  showed  them,  and  perhaps  the
whole range of parts available, or else they were shown inside
the lid.

The model all look the part, and apart from those on the

    OSN 41/1235 FAC:  S2

FIG.3

FIG.1
FIG.4

FIG.6

FIG.7
FIG.2 FIG.5



cover, they include a Crane,
a Cable Car, & a Lathe. The model in
Fig.3  is  the one  on  the  cover  and is
shown  here  at  the  original  size  (with
the  parts  list  but  without  the  11
building steps in the Manual).

No.1.  Recapping  from OSN  24  &
18: first, a possible early set in a brown cardboard box, 31½*
18*1½cm. It has wooden partitions giving 11 compartments in
3 rows and the picture on the lid (Fig.4) has been pasted on.
Its manual was missing.

Secondly,  the No.1  set commonly seen (Fig.5).  The box
measures 31*23cm and is partitioned into 16 compartments in
4 rows. The lid of the box for N&B etc is white with FAC in red.
The  card  with  the  vanes  etc  printed  on  it  is  white.  An
illustrated price list of parts is often found with the set – it is
one sheet folded into two with  LÖSDELAR on the front.  The
example to hand is the one from 1953 mentioned earlier. In
one Tradera set the inside of the lid is shown and has a list
and illustrations of parts  on it.  Some though are not  in the
No.1 and the same layout is used on the bottom of the No.2's
box and in its manual.

The manual was described in OSN 18 and its cover is the
photo on the Fig.4 lid but in B&W with FAC in red. The 11
models are larger than those for the No.0 and in general not
as 'cute'. 3 or 4 are not very exciting frameworks on wheels,
but several do give the impression of mechanical complexity,
even if in fact they are really quite straightforward. The most
complex is the Hammer in Fig.10 overleaf. A Cord on Pulley
brake is fitted to a Winch but not to the Crane on the cover.
No parts list  is provided for  any of  the models  but building

instructions  and scrap  views  are  included.  The  31  standard
constructions  at  the  beginning  of  the  manual  are  a  little
daunting en masse, but the builder is usually directed to which
ones apply to the model being built. Fig.10 is the original size
but in  the manual  there is  also  another  view of  the model
from the front, and half a page of building instructions.

No.1-2. The box is the same as the No.1 except for the
number on the lid, and 2 compartments in one row are merged
to take the longer Rods & Beams. If the quantities of parts in
the manual are correct the No.1 has a few more of  several
parts than the No.2.  This would mean that not all  the No.1
models  could  be made  with  Set  2  but  no  problem since  it
seems that a No.1 manual was not included in the No.2.

No.2.  The box is  21¾*30¼*4cm with an end opening
and 2 trays of parts inside. The lid, Fig.6,  features 2 of the
manual models and many of the parts in the set are shown on
the bottom of the box. One tray has 16 compartments in 5
rows, and the other, 12 in 3 rows, though in some sets there is
an extra compartment in one row.

The  manual has  32  unnumbered  pages  211*147mm
including  covers.  The  front,  Fig.7,  has  one  of  the  manual
models on the lid. p2 (C2) has the illustrated parts as on the
bottom of  the box.  p3 has the introduction  followed by 57
standard constructions on pp4-8 (more than for Set 1 because

  FAC:  S3      OSN 41/1236

Part Set:
PN

0 1 2 Part Set:
PN

0 1 2

Clamp 1/01 2 8 16 6/68mm Axle 2/51 1 1
Clamp 1/02 1 4 4 6/120mm Axle 2/53 1 1
Clamp 1/03 2 4 8 Beam 162mm 3/06 2
Clamp 1/04 4 4 8 Beam 274mm 3/10 2
Clamp 1/05 2 4 8 Plate 66*108mm 3/50 1
Clamp 1/06 2 4 8 Collar 6mm 4/01 2 2
Clamp 1/07 4 8 16 Collar 4mm 4/02 4
Clamp 1/08 4 8 Bush 6mm 4/03 2 2
Clamp 1/09 2 2 4 Bush 4mm 4/04 4
Clamp 1/10 2 2 6 4/6mm Sleeve 5mm 4/05 4 4 4
Clamp 1/11 1 4/6mm Sleeve 12mm 4/06 2 4
Clamp 1/20 4 8 4/6mm Sleeve 20mm 4/07 1 2
Clamp 1/21 4 6/8mm Spacer 2mm 4/08 4 6
Link 2h 1/30 2 4/6mm Split Sleeve 12mm 4/09 2 3
Link 3h 1/31 2 Pulley Disc 42mm 5/01 4 8
Bell Crank 1/35 2 Pulley 16mm 5/05 4 1 1
4/18mm Rod 2/01 4 Pinion 16t, 4mm bore 6/16 1
4/30mm Rod 2/02 1 4 Gear 64t, 6mm bore 6/64 1
4/40mm Rod 2/03 2 2 4 Screwdriver 7/01 1 1
4/50mm Rod 2/04 1 3 4 Spanner 7/02 1 1
4/60mm Rod 2/05 2 2 Span'driver 7/03 1
4/70mm Rod 2/06 1 4 2 M3 Bolt 6mm 8/01 14 60 85
4/78mm Rod 2/07 1 6 M3 Bolt 8mm 8/02 5 20 30
4/90mm Rod 2/08 4 2 M3 Bolt 12mm 8/03 8 12 20
4/106mm Rod 2/09 2 5 6 M3 Bolt 19mm 8/04 2 8 12
4/134mm Rod 2/10 4 4 Grub Screw 5mm 8/08 16
4/162mm Rod 2/11 4 2 M3 Nut 8/10 35 80 140
4/218mm Rod 2/13 4 8*3.2*.8mm Washer 8/20 25 8 40
4/246mm Rod 2/14 4 Eye Bolt, M3*12mm 8/31 3
4/174mm Rod 2/15 4 4mm Thr'd Sleeve 5.2mm 8/40 10
Scr End Rod 3cm 2/30 1 1 2 4mm Thr'd Sleeve 12.2mm 8/41 4
Scr End Rod 4cm 2/31 2 2 Crank Handle 10cm 9/01 1 1
Scr End Rod 5cm 2/33 2 2 Hook 9/02 1 1
Scr End Rod 7cm 2/34 2 Hook 9/03 1
Tie Rod 51mm 2/41 4 4 Tyre for #5/05 9/09 4
Tie Rod 91mm 2/43 2 Tyre for #5/01 9/10 2 4
Tie Rod 110mm 2/44 2 Spring 10*15mm 9/30 2
Tie Rod 150mm 2/46 2 Cord 1 1 1
Tie Rod 170mm 2/47 2 Manual #0 #1 #2

FIG.8

FIG.9



the  No.2  contains  Beams).  Then  on  p9  a  model  called
MODELLKONSTRUKTIONEER (a very simple 4-Wheel Chassis)
which is probably just an exercise in assembling the wheels &
bearings.  The real  models  go from a MOTORCYKEL (Motor-

cycle) on p10 to CHASSI TILL PEDALDRIVEN BIL (Pedal-driven
Car Chassis) on pp28-30. Next the set contents on pp30-31
and,  on the back cover,  magazine cuttings  about  FAC from
1952 & a PR '1952 52-3241'.

As well as the models above, and the Mechanical Hacksaw
on the cover, the models include 2 Cranes (though not the one
for Set 2 in the No.1 manual), a Bench Drill, a Cable Car &
Winch, and a Pile Driver. As one would expect all the models
are more ambitious than for Set 1, and as always with FAC,
they look impressive, to my eyes anyway. Fig.11 show all the
illustrations for the Chassis at their original size, but not the
instructions – they cover all the ringed numbers.

One set seen has the
different  design  of  lid
right,  with  part  of  the
set's  manual  over  the
bottom  right  corner.

The models on the lid
are  both  in  the
manual  but  the view
of the Cart is different
(the righthand one is

the Pile Driver).
No.2B The  wooden

boxed  set  right  has  a
hinged lid, wooden par-
titions  in  the  bottom
giving 17 compartments
in 4 rows, and a wooden
tray with 11 in 3 rows.
I'm not sure what the 'B'
indicates  but  the  main
parts in the 2 sets seen
appear  to  be the  same
as the cardboard No.2. Neither of the two No.2B's seen though
had a manual with it.

     OSN 41/1237 FAC:  S4

FIG.10

FIG.11

FIG.12

FIG.13


	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0508.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0509.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0510.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0511.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0512.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0513.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0514.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0515.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0524.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0526.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-0712.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-1197.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-1235.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-1236.pdf‎
	‎C:\Users\User\Documents\Websites\Mindex\Other\OSN\Pages\OSN-1237.pdf‎

